EXAM 3 Name ﬁw

Math 1914 <

10-24-14

Instructions Work all of the following problems in the space provided. If there is not enough room, you may
write on the back sides of the pages. Give thorough ezplanations to receive full credit.

1. (10 points) Give a definition of the definite integral of a function as a limit of Riemann sums. You should
explain the meaning of the symbols you use in your definition.
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2. (15 points) Use a linear approximation (or differentials) to estimate (2.007)%. S]dcjv your work. @
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3. (15 points) If f"(z) =1 —sinz, f/(0) =5, and f(0) =7, find f(x). @ @
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4. (15 points) An object starts to move at time t = 0. When it starts moving, its velocity is 2 meters per
second. Its acceleration, as a function of time, is a = 5t meters per second per second. How far does the

object move in 3 seconds? 2 G
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5. (15 points) Estimate the area under the graph of f(z) = z? from = = 2 to = = 4 using four approximating w
rectangles and right endpoints.
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6. (10 points) Consider the function f(x) = / Nies dt

a. Fill in the blanks to obtain a different valid expression for f(z):
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b. Find the derivative of f(z) (Hint: you can use your answer to part a.)
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V. (20 points) Evaluate the definite integrals. @
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